PARAMETRIC AND CARTESIAN EQUATIONS

1 For the curves whose parametric equations are given, find:

(i) the Cartesian equation (i) the vector equation.
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PARAMETRIC AND CARTESIAN EQUATIONS

2 For the curves whose parametric equations are given, find:
(i) the Cartesian equation (i) the vector equation.
(a) x:-—z—'—:—. '-l;‘—;.rek (b) x=asing,y=bcosP, 9eR

yL:;&..:MA ig t=tm A r= &/b’l/l\q) %f:mﬂ\@
(1+£?) 2

j.-. _,l::_g,= w A ié t=JrM_é:

0 X_?’+JZ=MA+@2A:’

Lot
Cw_Qo_w&tuO,r"d;ml
1yfm=xME+yMJ

-2t T+ 87
[+ e

mlk £t ER

YT 20 T+ O]
T - (Q_M(D)—C"‘(b Cﬂ“@J
wh ¢ € R

~Section 5 - Page 2 of 4




PARAMETRIC AND CARTESIAN EQUATIONS

3 For the curves whose vector equations are given, find:

(i) the parametric equation (i) the Cartesian equation.
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PARAMETRIC AND CARTESIAN EQUATIONS

5 The position of a particle at any time, 1, is r{t) = (4cos30)i + (4sin 31) .
(@) Show that the path is circular. (b) Find the Cartesian equation of the path.
(c) Find the value of||.

&) Fl) < (headt) T + (& MSC)J’

/70 1= b w3t and 3/6 441'/‘\1\3311{:
_ 6 @3t (‘j TS
. I/l Fy* = 6 = 4_2.

ik f oube O(0d) s *
b) oo a@O\ﬂ.
) IF] = 4

[wa 4%3t) + (4 sn3t)"

B \/16 a3t + 16 pacst

JFP:W:# |

‘Section 5 - Page 4 of 4

o




